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WLBE=CGaKEE) W= 1220 kg RILEDSEID LGA= 679 mm
BEbESE hG= 500 mm FTOHIEE LGB= 542 mm
RILRR RV LA= 1419  mm RILEHAX M10
LB= 1271 mm RILMMEAREL n= 4 K
ARV nt = 2 A
BERGAEEERE . g RRICHILHERE
REtRERERE KS 1.0 1.5 2.0
Hh iz R 5 Z 1.0 1.0 1.0
RETRAKFEEE KH=KS X Z 1.0 1.5 2.0
ERETAKFEHE S FH=KHXW 1.20 kN 1.79 kN 2.39 kN
RETRMMEMEN FV=FH/2 0.60 kN 0.90 kN 1.20 kN
Foh—RILEEIR A -RILE R/ ABI(RDA : 5 KfB)

0.68 kN 0.86 kN 1.04 kN
FH X hG+(W x 9.8+FV) X (L-LG)

Rb = N o =
LXnt *RJLE R/ BAEI(RLB : 5z K1)

0.75 kN 0.95 kN 1.16 kN
* L:LAX [ZLB. LG:LGAZ/-[4LGB
Foh—RILEE ARG A E
FH A:RILNBRETR 054 KkN/cm?| 082 KkN/cm?| 1.09 KkN/cm?
T  nA M10 0.55cm’
ETUh—RILDEAHFBSRFEICH T HREEQY)—MES120mmEL L)
HEBEIERBIRTVA—RILM(HRLH)
1BIA R &45mm EHIFAEIIRTTE 3.8 kN
BT A—HRILEDEHHFBSEAMIENEICRTIREE

5.1 = 40 = 33 =

7RJL I (SS400)
18.6 = 12.4 = 9.3 =

EEAE R AW S 10.1 kN/om®

ATULRRILE(A2-50)
EEA R AW HE:9.12 kN/om’
L EDEEHRIZBLT, ERB7h—RILIMMIOIEWThi+048EEXZEFT S

16.8 = 11.2 = 84 =

TR ERA - EIIES 2014FEERIZSRBLTVET,

ARHEFEREHETICLETUA—RILMIDVWTOBRERAETHY . EROMERELRILETILOTIEIHYEL A,

TERENEIERE - BT 2014FERIICESFLBIZEBLLET,

-LGH-N8ORDF2(-DM). N100RDF2(-DM)IZ AN X R &£ B & 2@IMY T T T6 R RYLAIEETT . B EITIELTIEAIEEL,
(1/1) N15HBGTO0050A



